
wykop + nasyp - wykop + nasyp - wykop + nasyp - wykop + nasyp - wykop + nasyp -
mb m

Odledłość
Objętość

Zuż.na miej.
Nadmiar objętości Suma algebraiczna

0,00 78,50 1,70 0,10
1,80

Tabela robót ziemnych

Kilometr Hektometr
Powierzchnia Średnia powierzchnia

36,50

m m m m m

100,00 1,90 0,10 36,50
1,90

0,10

1,90 0,10
47,50 2,50 2,50

21,50 38,70 2,20 2,20

1,95 0,10 25,00 48,80 2,50 2,50 46,30

0,10 25,00

150,00 2,00 0,10 127,80

45,00
81,50125,00

1,95 0,10 25,00 48,80 2,50 2,50 46,30
1,90 0,10 174,10

2,15 0,10 25,00 53,80 2,50 2,50 51,30
200,00 2,40 0,10

175,00

225,40
1,90 0,10 25,00 47,50 2,50 2,50 45,00

1,40 0,10 270,40225,00

Razem:= 285,10 14,70 14,70 270,40


